r—B!._H‘\B : 'V.F(ﬂ,!,). Vv (v\\: u ) |




3\“‘-‘0 Clhouwn wle @

el SRR
XEI9R) 1—2 Hy()

BN = F (a69)- 4
= ﬂl[ﬂ')' "(1(50

| -
3WM f“\ldm -‘: " — IR P(."lr Ly- 7(4) = (Fl("h--gh), &(11))(.,)))&(:1%3
dedwhe DE IR 5 & Linsar g gho by b wsbeic o i
Aarvihve; T)—(-: 3_{1 A, fa_Jf:'




@ m __)R__E__‘)m 3(’7(4 3742) ina (:3, (x4 ;7‘7,) ) 6;_(11)%)>

Cae) - (e 'H‘d. 1"9b) = ({:l (“ﬂu%) ) €1 (‘dla‘d"') ) '
D () = D 9(2)) . Dy(x)

D= [ 24 Qj‘ b { 2 \
’B-ol J\OL j ?14 0%
o9 E_{}_ 9 04,
L;; < 3
Wk Df Dy - T I
w0 ] e

. ) ¥(11?MJ .)'I.IAB ')Q(‘ﬂl)qz-l'” (OMB
b Jindk %S::: ﬁlﬁfﬂ%ﬁ* o e
lf)i

R R T o
“Whoabiake £ wrt b oAl ndsdn, ek by 2 b o}
Erasg\e o) = Wy - 1.;: ;‘fé? 3;nl‘—3 L
RN L:jz-f st k)% (i)



